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OCaml 12597J%9 (1)

[oiwa@tuba] ~> ocaml
Objective Caml version 3.06

1 + 2;;
: int = 3
#use “test.ml”;;

: int = 3;

I = | =

: string = “Test”
AD

H= |
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OCaml 1 2397J%5 (2)

m TSI
# 1+ 2.0;;

This expression has type float but
is here used with type int

m Emacs & D&
ocaml-mode

ocamldebug
(UK IEY=a7ILEg
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O O L o
mletX: FYTUNIVDESE
# let a = 3;;

val a : int = 3

# let f x = x + 1;;

val £ : int -> int = <fun>
s BHEGE

# T a;;

- : 1int = 4
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mlet...in X:
let x =

let X

I = 1 = 1 = X

let f

i >

in X + X;;

X + x in f 2;;
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m E2EY (int)
# 3 +5) 8/ -4;;
- : int = -16
# 5/ 45,
- : int =1
# 5 mod 4;;
- : int =1
# 3 < 2;;

- : bool = false
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i1

. 5.0) *. 8.0 /.
- : float = -21.333333

# 1.41421356 ** 2.0;;

- : float = 2.000000;;

# 3.0 < 2.0;;

- : bool = false
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fHdABHE (3)

= 51818 (bool)
# 2 <3 8&& 2.0 >=3.0;;
- : bool = false
#2 <31 2.0=3.0;;
- : bool = true
# not (3 < 2);;

- : bool true

A
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fHdABHE (4)

o o o o
n XF5 (string)
# “Stl"” A “_ing”;;
- : string = “String”
# print_string “Hello¥nworld¥n”;;

Hello
World
- : unit = ()

24



» » » »
= Tuple

# (3 +5, 5.0-.1.0);;

- : int * float = 8, 4.000000

# fst (3, 2);;

- : int = 3

# snd (3, 2);;

- : int = 2

# (3, true, “A”);;

: int * bool * string = 3, true,“A”
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FEIZXEL (1)

= B8%X (function)

# let f x

val £ :

#

#

#

f 2;;

: 1nt =

fun x -> X + 2;;
: int -> int = <fun>
(fun x -> X + 2) 2;;

: 1nt =

4

4

X + 2;;

int -> int <fun>
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°
= 25| ENREEEX
# let T xy=x* (X+VY);;
val £ : int -> int -> int = <fun>
# T 2 4;;
- : int = 12
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FIEXEE (3)

= [£F] 25| ENEIEDES

= 73V —1E (Curried) K1/

#

val £

#

I 3= |

let f Xy =X+ vYyj;;

£ 23

: int -> int = <fun>
(f 2) 4;;

: int = 6

: int -> int -> int = <fun>
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" EFfESE (Iet )
o 7I<1[--/ \Illi

#'Ietfx=1'fx<2

then “smaller than 2”
else “not smaller than 27;;
val £ : int -> string = <fun>

# F 1;;

- : string = “smaller than 2”
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fHdAHDIBN (2)

s BIREEEDTES: let rec
# let rec fib x =

1if Xx < 2 then 1

else fib(x-1) + fib(x-2)
val fib : int -> int = <fun>
# fib 10;;
- : int = 89
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fHdAH DB (3)

= BImEIE ()

# let rec pow x n = 1f n = 0 then 1
else x * pow x (n-1);;

val pow : int -> int -> int = <fun>

# pow 3 10;;

- : int = 59049
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fHdAHDIBN (4)

= lHE BJTE: &ODHH%HZ%

# let rec even x = if x=0 then true

else odd(x-1)
and odd x = if x=0 then false

else even(x-1);;
val even : int -> bool =

= <fun>
val odd : int -> bool = <fun>
# odd 5423;;

- : bool = true
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0> AH DB (5)

m let & let rec MIEQLN...
# let fox = X + 3::

N\

# let T x = f (x-1);;

# T 2;;

- : int = 4

# let rec f x = f (x-1);;
# T 2:: (* IEESETL *)
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